Integer division up to 100 #6

21) 6111 + 63

740 <+ 74

22) 1596 + 19

136 = 34

23) 9212 + 98

4560 = 76

24) 198 = 99

1920 + 48

25) 2418 + 26

2170 + 35

26) 6090 = 70

3604 + 53

27) 5110 + 73

312+ 13

28) 2856 = 34

8370 + 90

29) 648 = 12

6873 + 79
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Integer division up to 100 #6 (Solutions)

740 + 74 =10
136 =34 =4
4560 =+ 76 = 60
1920 = 48 = 40
2170 + 35 = 62
3604 = 53 = 68
312+ 13=24
8370 +90 = 93
6873 + 79 = 87
473 - 43 =11
1848 = 33 = 56
2425 +97 =25
456 + 38 = 12
2158 =26 = 83
1625 + 25 =65
5760 +-90 = 64
1457 +- 47 = 31
1755 =+ 39 = 45
768 - 12 =064
364 +26 =14
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6111 + 63 = 97
1596 - 19 =84
9212 +-98 =94
198 +99 = 2
2418 +26 =93
6090 =+ 70 = 87
5110 + 73 =70
2856 +~ 34 = 84
0648 =12 =54
2444 + 47 = 52
1080 <+ 90 = 12
7290 =90 = 81
450 -6 =175
2914 +- 47 = 62
6068 + 74 = 82
324 -4 =81
4290 =+ 78 = 55
1140 - 76 = 15
5829 + 87 = 67
6552 + 78 = 84



